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α) 

𝑓 =
1

𝑇
 

𝜔 = 2𝜋𝑓 = 2𝜋  
1

𝑇
 = 2𝜋  

1

0,1𝜋
 = 20𝑟𝑎𝑑/𝑠𝑒𝑐 

β) 

𝑓 =
1

𝑇
=

1

0,1𝜋
= 10/𝜋𝐻𝑧 
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𝐿 = 60𝑚𝐻 =
60

1000
= 0,06𝐻 

𝑋𝐿 = 𝜔𝐿 = 100 ∗ 0,06 = 6𝛺 

𝛧 =  𝑅2 + 𝑋𝐿
2 =  82 + 62 =  64 + 36 =  100 = 10𝛺 

 

𝑈𝜀𝜈 =
𝑈0

 2
=
200 2

 2
= 200𝑉 

𝐼 =
𝑈

𝑍
=
200

10
= 20𝐴 

 

𝜎𝜐𝜈 𝜑 =
𝑅

𝑍
=
8

10
= 0,8 

 
𝑄 = 𝑋𝐿𝐼

2 = 6 ∗ 202 = 2400𝑉𝐴 

ή 

𝑆 = 𝑈𝐼 = 200 ∗ 20 = 4000𝑉𝐴 = 4𝑘𝑉𝐴 

 

𝑃 = 𝑈𝐼𝜎𝜐𝜈 𝜑 = 200 ∗ 20 ∗ 0,8 = 3200𝑊 = 3,2𝑘𝑊  

𝑄 =  𝑆2 − 𝑃2 =  42 − 3,22 =  16 − 10,24 = 2400𝑉𝐴 
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𝑄𝐶 = 𝑄 − 𝑄𝑇 = 2400 − 800 = 1600𝑉𝐴𝑟 

 

 
𝑆 = 𝑈𝐼 = 200 ∗ 5 = 1000𝑉𝐴 

 
𝑃 = 𝑃1 + 𝑃𝑘 = 200 + 600 = 800𝑊 

 

𝑃𝑘 = 𝑈𝐼𝑘𝜎𝜐𝜈 𝜑𝑘 ⇒ 𝐼𝑘 =
𝑃𝑘

𝑈𝜎𝜐𝜈 𝜑𝑘 
=

600

200   2 2
  

= 3
2

 2
= 2 2𝐴 

 

 

𝑆𝑘 = 𝑈𝐼𝑘 = 200 ∗ 2 2 = 400 2𝑉𝐴 

𝑄𝑘 =  𝑆𝑘
2 − 𝑃𝑘

2 =   400 2 
2
− 4002 =  2 ∗ 400 − 400 =  400 = 20𝑉𝐴𝑟 


